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Instructions to the &budnlal'ﬂ
AW
1) Al Qtitztmm_grc C("Il[)lll\l"j KA
2) Figures to 1lx> right indicate full marks. g
3) Useof spaiistical tables and calculator is allowed. .~
4) 8 mbn\li Shave their usual meanings. ::_S'
‘%' &L
‘\
Q1) A) l,"ﬂ‘m the blanks : " Q (5% 2=10]
AN & -
,a) If.\-.1’—6.Salld.\'=42.t&11€\ﬁ)'fng;./ . '% T = ‘% o o
55 ) 40 \’\'”’\Mii) ~ 48 w it
i) 56 ,Q‘ ~ty) N
_Atl) \ 1)) one i g %
b) Fourth propomonaho 4<Q 8 is S 7~ W 5P
) 10 *T ,\ 12
L) 14 ~ ‘; iv) None «‘;-:
~
c) A man sold 12 p;ans for the cost price of 15 pens then prom 15
%. \ .:;.
/\\‘. \\ ’/‘-. -
o250 S iy 50 N
O : QY
i) 40 °~ iv) None (‘,..\"““| 1y Gee © Q¢
N
d) 12% of 800 = o N L
. Q- Q&
i) 90 i 8. ©
N &
iii) 95 _v) Wone
Cr o
) "C=___ . A0
: o 15!
) 1360 AT 1365 m"
i) 1400 ) Nonc '
"‘*A DTN

Scanned with CamScanner



‘ ..'u i 3 * 2 4 (,
B)  State whether the following statements are true oF false [ |

nfn 1) ?
) 142+3+ ivnnm ~+n:::"";‘“"-
N b) If number of rows of mulm A is not equal to number of columns of
o matrix B tbcn\u cdn find the product of two matrices A Jlld B. ;
¢) Objuum,\_)\\\uwr) may be cither maximize or minimize. “T
z o
\ r\
~ ¢
02) Attemptan Qurof»dﬁ following : [4 =4 =16]
/
a) lmd.((zg P==18[(n-1)P,]. "
- N ) P :"\
D 4 -3 2| &
b >
N . ) 1 2 1| ¥
b)  Evaluate the following determinant "4
o 31 =2
~ Q'

N -
‘Pmd the simple interest on Rs. 2,000 it (» o p a. for S months.,

di\\ ‘The population of a city ncu‘uﬁp\g to_ f‘ﬂl census was 84,500 and n

rose to 1,10,000in 1981. F uuhllc’pctcgnmbc. increase in the population

¢) A commission agent gc"l:g} coxﬁuimnon upto a sale of Rs. 30,000 -
and 15% on the sales ¢ me'Rs 30,000/-. In a month, his sales are

Rs. 67,000/- find his ooxumnse@n

N

4 2+l y+3=[5 9 =
3z-1 5| [z -4 |11 1|

\_"
b A Rx=1 3] |7 2 10

~
f)  Find the values of x, _)and zif

—

£l
/
‘@

A 3
Q AN AN
N vV o
03) Attempt any four oﬁae following : pg o [4 x4 =16]
a) Define the following terms : Q ’ ,\\‘
i)  Decision variables il) Opﬁ?uum,sﬁhftmn

T
b) The following data relates to the marks g»nrougmf students :
Marks | Below 10 | Below20 | Bgloy am VBelow 40 | Below 50

No. of 15 38 65 . 84 100
Students ",
How many students got marks more thﬁ 30?
q
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¢) Ratio of two numbersis 3 : 5 and the‘ﬂsi’ﬁn of the numbers is 232, find the

d) Find the compound interest on RS 5,000 at 4% p.a. for 5 years.

S
¢) Find the adjoint of the ma}r\ixi‘A =
( ,
f) The price of @ﬂob@l&?hand set is Rs. 20,000. An agent charges
commissior;ﬁt"‘jé%. IfHhe earns Rs. 40,000. Find the number of mobile
v
N

04) Attempt an§?€0’ur 6t3tﬁe following : A [4 x 4 =16]

bigger number. &
O .
3]
Ly :
sets sold Qgéhi’m.(\ oy
8 IEPCYE "Gytind °C,. o

b) IRy an;l\SO are in continued proportion, find y. ;:}0
. . KO
¢) Definethe following terms: j
1) @\biagonal matrix : QO»
i+ Upper Triangular matrix A, m‘,\Q
d) o~Solve the following LPP by graphic met\lsoﬂ
> Maximize Z= 3x, + 2x, ,,3”?
Subjectto  2x, +x, <2 v ,\:v
3x, + 4x, 3@3 ;{b\/
x, > 0,x,¥0 OOQ/
> Q
5 X
e) Find the value of x if |x \éj\ 5|=0. @
x5 4 d:’
NS S
f)  What is the difference between simple interest and comgound ix@rest at
10% p.a. on Rs,\@OO for 2 years. (‘\)7 é}/
N oy
05) Attempt any one of the following : N \r:) [1%6=06]
&
2 3 1 0 Q™ D
a) A= | b B=l | o verify that | A= |AlIBI
Nofi

b) If X varies directly as y and inversel@ z an@vﬁc =12 wheny =9 and
z=16, find y when x =9 and z = 24. v"\
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